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(Game-of-Life Algorithm: GLA)

GLA

 

 

“ ” L 2

ON OFF

“ ” ON

up-spin down-spin

GLA

GLA

ON OFF

GLA OFF

ON OFF ON B

Birth

ON

ON

S

Survival

ON OFF

D Death

GLA

t = 0 t = 1 t = 50 t = 100

t = 300 t = 650 t = 700 t = 2000  

GLA R3 r0 = 0.50). 

 



GLA  

GLA B S

50 50 ON

300  

 

(r0)

ON

GLA

r0 0.50

500

r0

 (Teq) ON

(S) r0

r0 0 1 S

ON r0 0.2-0.6

S

ON ON-ON r0 0.1-0.8 1.1

ON

ON  

B OFF

ON

ON N

RN

N=1-8 r0 0.50

R1 R2

ON

ON R1 R2 ON

ON

N ON

r0 0.01 R2

ON

 

GLA  

0

10

20

30

40

50

60

70

80

90

0.00 0.20 0.40 0.60 0.80 1.00 
r0

S
(T

e
q
)

 

r0 (S(Teq))

GLA  

 R2 (r0 = 0.01) 

Step = 0 Step = 1 Step = 10 Step = 20

Step = 30 Step = 50 Step = 100 Step = 1000


